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1. If the density function of a random variable is f(x; 8) = 8e~%* for x > 0 (with mean u = 1/6 and
variance 2 = 1/62). Then 95% confidence limits for large sample size are:
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2. Formula for 95% confidence limits for the variance of population N(u, 02), when u is unknown, is:
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3. Tick the quantities upon which power of the test depends:
(@) type I error (b) type Il error (c) sample size
(d) sample mean (e) sample variance () null and alternative hypotheses

(9) population mean (h) population variance

4. While testing the equality of more than two population means, we use F statistic which is the ratio of
two variances. The larger variance in this variance ratio is taken:

(a) in the denominator (b) in the numerator

(c) either way (d) none of above

5. Let X represents a random variable following N(u, o2 = 4). The hypotheses are H,: u = 2 against
Hy:u = 1/2. A sample of size 25 is selected randomly and H,, is rejected if sample mean is less than 1.

Then the size of type | error is equal to and the power of the test is equal to




6. Define simple and composite hypotheses. Give an example of both.

7. What is the difference between most powerful (MP) test and uniformly most powerful (UMP) test?




